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(/~.~ Semester B.E. Degree Examination, Dec.2017/Jan.~;0:~8)
\ j ./ \~v-,<>. File Structures 0~j:.t
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TIme: 3 hrs. C'I.-:3 !(0M:=ax. Marks: 100r • \,~)

~:: .. Jote: A nswer any FIVE full questions, select~g "<:.-
, /;> at least TWO questions from each par·e,'6\
<.~?-;:) c-, \,j
"<?-:rf\\ PART - A cl:J"0

I I \ ' {) . "
1 a. Explain the seekm:g})pe;~tion in detail with respect to C str~~tn::;:o also C++ stream class.

/>~\ sk ...w (08 Marks)
b. List and briefly expl~~ __tneAtrength and weakness ofCQ'~~l. (05 Marks)

c. Write a C+:- program (1~S(hthe contents of a file an~~spiay the contents in reverse order
on the terminal. t;::;\ '\~~ (07 Marks)

',- 1..1 --.. ""\,.:::1 ('2 ~-').'J
2 a. Differentiate between fixed lerl?th r cord and vafja6 e)}ength record with suitable examples.< .> __"\~ (04 Marks)

b. Explain the class hierarchy for '('~7rd buffer-~Ject - IOBuffer. Also write only the class
~ /\ t9J;',structure with main members and 1l~~jJP,psP~~~} IOBuffer. (08 Marks)

c. Write a C++ program to pack the ~;~OQa{,~Jof student records in a file. (Fixed length
record structure can be used) / (/ (08 Marks)

3 W . C Co' I' h (~" ~,7:> d . RRNa. nte a ++ tunction or a gont m t~s.e1!r 'vall'~,~rl usmg. (06 Marks)
b. List the needs of data compre si®~Expl~!#Run-length encoding algorithm with an

example. -:VC' - /:,---- (08 Marks)
c. Explain the various placement sf~t:egies. \.~&MRIT LI ItA Y (06 Marks)

»: lr.J (0~GALORE • S60 03?

4 a. Define co-sequential proe lSVJg. Explain the esiepf t components of
processing model. h .z> ~~ >:>

b. Explain K-way merge at§)" .1 m with an example. ~~<;')

(C'1 ~/15'
'''::''i '\'7.::2!'-'"-, PART - B \S .//"

/" '] ,r J J

5 a. List the B-tree pr~~s. Explain search and insert methods wif!(F~ect to B-tree. '
(>.f.j .3?r:'> (10 Marks)

b. Calculate the ~)~r of levels for a B-tree given 1000000 keys and~~'~'r 512. (10 Marks)
r------:,.':::) r,

6 a. Explain il\~~~cr~equential access. Explain block splitting and mergirf(.~~tl:l..e sequence set
with suital:Il~iamples. .(f!j) (10 Marks)

b. Expla~,gr)'~~tail simple prefix B+ tree maintenance. (>~_, (10 Marks)

'~I tJ/
7 a. D~§~> h.(shing. Differentiate between hashing and indexing. Explain sl~~e) hashing

<\r~0:tjgJh1with an example. <>(1Q.,~rkS)
b. /·,xt>Jjtindouble hashing and chained progressive overflow in detail q,{p 11 ks)

~~ ~~
---Explain the following: '---
a. Tries
b. Unix directory structure
c. Field structures
d. Key sorting algorithm.

consequential
(10 Marks)
(10 Marks)
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(20 Marks)
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